

BID2022-76 FURNISH AND INSTALLING DEAD END FLUSHERS ASSEMBLIES FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER OPENED 12/14/2022 AT 11:00AM				
NUMBER OF RESPONDENTS:	4			
NAME OF BIDDER	DEWCON INC	TED DOLCI, INC	CRJ CONTRACTING CORP.	T&T COMMONWEALTH CONSTRUCTION CO INC
ADDRESS	PO BOX 439	340 PATTERSON AVE	50 DIVISION ST STE 204	460 FARADAY AVENUE
CITY, STATE, ZIP	BASKING RIDGE, NJ 07920	HAMILTON, NJ 08610	SOMERVILLE, NJ 08876	JACKSON, NJ 08527
CONTACT NAME	FRAN S. DEWRY	ADAM REYMAN	JAMES CIACCIARELLI	THOMAS R. KUENZLER, PRESIDENT
TELEPHONE	908-832-5710	609-890-7402	908-668-7900	732-901-7400
FAX	908/832-0794	609-587-7279	908-668-0054	732-901-7404
E-MAIL	DEWCONINC.COM	AREYMAN@TDOLCI.COM	JCIACCIARELLI@CRJCONTRACTING.COM	JTCOM84@OPTIONLINE.NET
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #1 11/29/2022	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #2 12/2/2022	INCLUDED	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED
BID GUARANTEE	10% PHILADELPHIA INSURANCE	10% CONTRACTORS BONDING AND INSURANCE COMPANY	10% SOMPO INTERNATIONAL INSURANCE	10% TRAVELERS CASUALTY & SURETY COMPANY OF AMERICA
CONSENT OF SURETY	PHILADELPHIA INSURANCE COMPANIES STEPHANIE FOY (POA)	CONTRACTORS BONDING AND INSURANCE COMPANY CARMEN J CAVALIERE (POA)	SOMPO INTERNATIONAL INSURANCE VICTORIA ERNEST (POA)	TRAVELERS CASUALTY & SURETY COMPANY OF AMERICA STEVEN G. RAFFUEL (POA)
PERFORMANCE BOND	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER
PUBLIC WORKS CONTRACTOR REGISTRATION ACT FOR CONTRACTOR	CERT.#632659 EXP. 9/15/2023	CERT.# 621980 EXP. 1/29/2024	CERT.# 611872 EXP. 01/02/2024	CERT.# 608672 EXP. 08/07/2024
EIC FOR CONTRACTOR	N/A	CERT.#8294 EXP. 05/15/2025	CERT.#63021 EXP. 06/15/2023	N/A
INTENT TO USE SUB-CONTRACTOR	NONE	YES - RUSLING PAVING & CONCRETE- PAVING	YES- CCM CONTRACTING, CO. - PAVING	NONE
NJ BUSINESS REGISTRATION CERTIFICATE FOR SUB CONTRACTOR	N/A	INCLUDED	INCLUDED	N/A
PUBLIC WORKS SUB-CONTRACTOR REGISTRATION ACT	N/A	REQUIRED PRIOR TO AWARD OF THE CONTRACT	CERT.# 629042 EXP. 04/25/2024	N/A
EIC SUB-CONTRACTOR	N/A	REQUIRED PRIOR TO AWARD	N/A	N/A
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED
STATE AND FEDERAL DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED AWARDED PROPOSER	REQUIRED AWARDED PROPOSER	REQUIRED AWARDED PROPOSER	REQUIRED AWARDED PROPOSER
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES	YES
THREE (3) REFERENCES	N/A	N/A	N/A	N/A
TOTAL AMOUNT	(SEE ATTACHED BREAKDOWN OF PRICING)	(SEE ATTACHED BREAKDOWN OF PRICING)	(SEE ATTACHED BREAKDOWN OF PRICING)	(SEE ATTACHED BREAKDOWN OF PRICING)
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	NONE

Seacor

Revised 11/29/22  
Addendum No. 1

BID FORM Section 00400

City of Trenton, Department of Water and Sewer

Request for Bid: Furnishing and Installing Flusher Assemblies

Bid form unit prices shall include all materials and labor as per the Specifications. Bid form unit prices shall include traffic control costs. Uniformed police for traffic control shall be invoiced separately with no markup applied.

PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
BASE BID

Item No.	Description	Unit Price (EA)	QTY	Total
1	Flusher Assembly (Furnish and Install)	\$6100.00	170	\$1037000.00
2	Allowance for Uniformed Police (Traffic Control)			\$20,000.00
3	Allowance for Supplementary Work/Unforeseen Conditions			\$50,000.00

Total Base Bid in Figures \$ 1,107,000.00

Total Base Bid in Words \$ One Million - One Thousand Seven Hundred Dollars

PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
SUPPLEMENTAL BID

ID	ITEM	QTY	UNIT	UNIT PRICE IN FIGURES	TOTAL PRICE IN FIGURES
S1-1	Concrete <u>One Dosey</u> (write unit price in words)	60	CY	\$1.00	\$60.00

Devcon

Revised 11/29/22  
Addendum No. 1

S1-2	Clean Stone  <u>Jary Tades</u> (write unit price in words)	60	CY	<u>\$40.00</u>	<u>\$2,400.00</u>
S1-3	Dense Graded Aggregate  <u>Jary Tades</u> (write unit price in words)	120	CY	<u>\$40.00</u>	<u>\$4,800.00</u>
S1-4	Furnishing and installing 2 inch Superpave Top course (MHS 12.5M76) NJDOT Rd  <u>One Tades</u> (write unit price in words)	200	SY	<u>\$1.00</u>	<u>\$200.00</u>
S1-5	Furnishing and installing 2 inch Super Pave (HMA9.5M64) top course in Mercer County Roads  <u>One Hundred Tades</u> (write unit price in words)	200	SY	<u>\$100.00</u>	<u>\$20,000.00</u>
S1-6	Final Road Restoration in Township and City Roads  <u>One Hundred Tades</u> (write unit price in words)	400	SY	<u>\$100.00</u>	<u>\$40,000.00</u>
S1-7	Credit for Dry Tap Installation (CREDIT PRICE SHALL BE DEDUCTED FROM BID PRICE SCHEDULE)  <u>\$1.00 One Tades</u> (write unit price in words)	60	EACH	<u>\$1.00</u>	<u>\$60.00</u>

Total Supplemental Bid in Figures \$ 67,520.00

Total Supplemental Bid in Words \$ Sixty - Seven Thousand - Five Hundred Twenty - Litter

Total Base Bid Plus Supplemental Bid in Figures \$ 1,174,520.00

Total Base Bid Plus Supplemental Bid in Figures \$ One Million - One Hundred Sixty - Seven Thousand - Five Hundred + Twenty - Litter

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID**

**(MANDATORY IF APPLICABLE)**

NAME W/H Name  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

Tad Sokci, Inc.

Revised 11/29/22  
Addendum No. 1

**BID FORM Section 00400**

**City of Trenton, Department of Water and Sewer**

**Request for Bid: Furnishing and Installing Flusher Assemblies**

**Bid form unit prices shall include all materials and labor as per the Specifications. Bid form unit prices shall include traffic control costs. Uniformed police for traffic control shall be invoiced separately with no markup applied.**

**PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
BASE BID**

Item No.	Description	Unit Price (EA)	QTY	Total
1	Flusher Assembly (Furnish and Install)	6,879.00	170	1,169,430.00
2	Allowance for Uniformed Police (Traffic Control)			\$20,000.00
3	Allowance for Supplementary Work/Unforeseen Conditions			\$50,000.00

Total Base Bid in Figures \$ 1,239,430.00

Total Base Bid in Words \$ One Million, Two Hundred Thirty Nine Thousand,  
Four Hundred Thirty Dollars, No Cents

**PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
SUPPLEMENTAL BID**

ID	ITEM	QTY	UNIT	UNIT PRICE IN FIGURES	TOTAL PRICE IN FIGURES
S1-1	Concrete  <u>Twenty One Thousand Dollars</u> (write unit price in words)	60	CY	<u>350.00</u>	<u>21,000.00</u>

Ted Dolci, Inc

Revised 11/29/22  
Addendum No. 1

S1-2	Clean Stone  <u>THREE THOUSAND DOLLARS</u> (write unit price in words)	60	CY	<u>50.00</u>	<u>3,000.00</u>
S1-3	Dense Graded Aggregate  <u>Four Thousand Eight Hundred Dollars</u> (write unit price in words)	120	CY	<u>40.00</u>	<u>4,800.00</u>
S1-4	Furnishing and installing 2 inch Superpave Top course (MHS 12.5M76) NJDOT Rd  <u>THIRTY Two THOUSAND DOLLARS</u> (write unit price in words)	200	SY	<u>160.00</u>	<u>32,000.00</u>
S1-5	Furnishing and installing 2 inch Super Pave (HMA9.5M64) top course in Mercer County Roads  <u>THIRTY Two THOUSAND DOLLARS</u> (write unit price in words)	200	SY	<u>160.00</u>	<u>32,000.00</u>
S1-6	Final Road Restoration in Township and City Roads  <u>SEVENTY Two THOUSAND DOLLARS</u> (write unit price in words)	400	SY	<u>180.00</u>	<u>72,000.00</u>
S1-7	Credit for Dry Tap Installation (CREDIT PRICE SHALL BE DEDUCTED FROM BID PRICE SCHEDULE)  <u>1</u> (write unit price in words)	60	EACH		<u>-60.00</u>

Total Supplemental Bid in Figures \$ 164,740.00

Total Supplemental Bid in Words \$ One Hundred Sixty Four Thousand, Seven Hundred Forty Dollars.

Total Base Bid Plus Supplemental Bid in Figures \$ 1,404,170.00

Total Base Bid Plus Supplemental Bid in Figures \$ One Million, Four Hundred Four Thousand, One Hundred Seventy Dollars

PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME RUSLING PAVING & CONCRETE, LLC  
ADDRESS 204 IRVING ST  
CITY, STATE, ZIP EWING, NJ 08638  
TELEPHONE: 609-771-4303  
FAX NO. 609-771-6802  
TRADE PAVING  
LICENSE NO. 13VH00329600

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

CRS Contracting, Corp

Revised 11/29/22  
Addendum No. 1

**BID FORM Section 00400**

**City of Trenton, Department of Water and Sewer**

**Request for Bid: Furnishing and Installing Flusher Assemblies**

**Bid form unit prices shall include all materials and labor as per the Specifications. Bid form unit prices shall include traffic control costs. Uniformed police for traffic control shall be invoiced separately with no markup applied.**

**PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
BASE BID**

Item No.	Description	Unit Price (EA)	QTY	Total
1	Flusher Assembly (Furnish and Install)	\$7,250.00	170	\$1,232,500.00
2	Allowance for Uniformed Police (Traffic Control)			\$20,000.00
3	Allowance for Supplementary Work/Unforeseen Conditions			\$50,000.00

Total Base Bid in Figures \$ 1,302,500.00

Total Base Bid in Words \$ One Million Three Hundred Two Thousand Five Hundred Dollars and Zero Cents

**PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
SUPPLEMENTAL BID**

ID	ITEM	QTY	UNIT	UNIT PRICE IN FIGURES	TOTAL PRICE IN FIGURES
S1-1	Concrete  <u>Three hundred forty dollars and zero cents</u>  (write unit price in words)	60	CY	\$340.00	\$20,400.00

CRS Contracting, Corp

Revised 11/29/22  
Addendum No. 1

S1-2	Clean Stone  <u>Forty two dollars and zero cents</u> (write unit price in words)	60	CY	<u>\$42.00</u>	<u>\$2,520.00</u>
S1-3	Dense Graded Aggregate  <u>Fifty six dollars and zero cents</u> (write unit price in words)	120	CY	<u>\$56.00</u>	<u>\$6,720.00</u>
S1-4	Furnishing and installing 2 inch Superpave Top course (MHS 12.5M76) NJDOT Rd  <u>Sixty three dollars and zero cents</u> (write unit price in words)	200	SY	<u>\$63.00</u>	<u>\$12,600.00</u>
S1-5	Furnishing and installing 2 inch Super Pave (HMA9.5M64) top course in Mercer County Roads  <u>Sixty dollars and zero cents</u> (write unit price in words)	200	SY	<u>\$60.00</u>	<u>\$12,000.00</u>
S1-6	Final Road Restoration in Township and City Roads  <u>Forty eight dollars and zero cents</u> (write unit price in words)	400	SY	<u>\$48.00</u>	<u>\$19,200.00</u>
S1-7	Credit for Dry Tap Installation (CREDIT PRICE SHALL BE DEDUCTED FROM BID PRICE SCHEDULE)  <u>One dollar and zero cents</u> (write unit price in words)	60	EACH	<u>\$(1.00)</u>	<u>\$(60.00)</u>

Total Supplemental Bid in Figures \$ 73,380.00

Total Supplemental Bid in Words \$ Seventy Three Thousand Three Hundred Eighty Dollars and Zero Cents

Total Base Bid Plus Supplemental Bid in Figures \$ 1,375,880.00

Total Base Bid Plus Supplemental Bid in Figures \$ One Million Three Hundred Seventy Five Thousand Eight Hundred Eighty Dollars and Zero Cents

**PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID  
(MANDATORY IF APPLICABLE)**

NAME CCM Contracting Inc.  
ADDRESS 336 Route 22 West  
CITY, STATE, ZIP Green Brook, NJ 08812  
TELEPHONE: 732-968-1010  
FAX NO. 732-968-1135  
TRADE Final mill & paving  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

NAME \_\_\_\_\_  
ADDRESS \_\_\_\_\_  
CITY, STATE, ZIP \_\_\_\_\_  
TELEPHONE: \_\_\_\_\_  
FAX NO. \_\_\_\_\_  
TRADE \_\_\_\_\_  
LICENSE NO. \_\_\_\_\_

Tent Commonwealth

Revised 11/29/22  
Addendum No. 1

BID FORM Section 00400

City of Trenton, Department of Water and Sewer

Request for Bid: Furnishing and Installing Flusher Assemblies

Bid form unit prices shall include all materials and labor as per the Specifications. Bid form unit prices shall include traffic control costs. Uniformed police for traffic control shall be invoiced separately with no markup applied.

PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
BASE BID

Item No.	Description	Unit Price (EA)	QTY	Total
1	Flusher Assembly (Furnish and Install)	7,890.00 190.00	170	1,341,300.00
2	Allowance for Uniformed Police (Traffic Control)			\$20,000.00
3	Allowance for Supplementary Work/Unforeseen Conditions			\$50,000.00

Total Base Bid in Figures \$ 1,411,300.00

Total Base Bid in Words \$ one million four hundred eleven thousand three hundred dollars no cents

PRICE SCHEDULE  
FURNISHING AND INSTALLING DEAD-END FLUSHERS ASSEMBLIES  
BID 2022-76  
SUPPLEMENTAL BID

ID	ITEM	QTY	UNIT	UNIT PRICE IN FIGURES	TOTAL PRICE IN FIGURES
S1-1	Concrete  <u>one thousand dollars no cents</u> (write unit price in words)	60	CY	1,000.00	60,000.00

101 Commonwealth

Revised 11/29/22  
Addendum No. 1

S1-2	Clean Stone <u>Fourty Five Dollars no cents</u> (write unit price in words)	60	CY	<u>45.00</u>	<u>2,700.00</u>
S1-3	Dense Graded Aggregate <u>Fifty Dollars no cents</u> (write unit price in words)	120	CY	<u>50.00</u>	<u>6,000.00</u>
S1-4	Furnishing and installing 2 inch Superpave Top course (MHS 12.5M76) NJDOT Rd <u>Eighty dollars no cents</u> (write unit price in words)	200	SY	<u>80.00</u>	<u>16,000.00</u>
S1-5	Furnishing and installing 2 inch Super Pave (HMA9.5M64) top course in Mercer County Roads <u>Eighty dollars no cents</u> (write unit price in words)	200	SY	<u>80.00</u>	<u>16,000.00</u>
S1-6	Final Road Restoration in Township and City Roads <u>Sixty dollars no cents</u> (write unit price in words)	400	SY	<u>60.00</u>	<u>24,000.00</u>
S1-7	Credit for Dry Tap Installation (CREDIT PRICE SHALL BE DEDUCTED FROM BID PRICE SCHEDULE) <u>Ten dollars no cents</u> (write unit price in words)	60	EACH	<u>10.00</u>	<u>-600.00</u>

Total Supplemental Bid in Figures \$ 124,100.00

Total Supplemental Bid in Words \$ One Hundred Twenty Four Thousand one hundred dollars no cents

Total Base Bid Plus Supplemental Bid in Figures \$ 1,535,400.00

Total Base Bid Plus Supplemental Bid in Figures \$ One million five hundred thirty five thousand four hundred dollars no cents

PROVIDE A LIST SUB-CONTRACTORS  
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY IF APPLICABLE)

NAME PLUMBLIN - NONE

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME HVAC - NONE

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME STRUCTURAL STEEL - NONE

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_

NAME ELECTRICAL - NONE

ADDRESS \_\_\_\_\_

CITY, STATE, ZIP \_\_\_\_\_

TELEPHONE: \_\_\_\_\_

FAX NO. \_\_\_\_\_

TRADE \_\_\_\_\_

LICENSE NO. \_\_\_\_\_